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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

10-

Fierce winds and deadly waves were only one ~——----------—- many explorers like Christopher
Columbus confronted when sailing to unknown lands.

1) suspension 2) obstacle 3) shortage 4) variation

In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers ------=--=e-- -~ to find new supplies.

1) discouraging 2) refusing 3) invading 4) struggling

The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This ————--—----—- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the --——---eeeeeeen effects on the environment as
much as possible.

1) indigenous 2) competitive 3) deleterious 4) imaginary

Like most successful politicians, she is pertinacious and single-minded in the —-----v--—— -
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement
Knowing that everyone would —----eeceeeeeee after graduation, she was worried that she
would not see her friends anymore.

1) emerge 2) conflict 3) differentiate 4) diverge

Certain mental functions slow down with age, but the brain --------—------ in ways that can
Keep seniors just as sharp as youngsters.

1) composes 2) conveys 3) compensates 4) corrodes

It is argued by some that hypnosis is an effective intervention for -------—---——-- pain from
cancer and other chronic conditions,

1) displacing 2) alleviating 3) exploring 4) hiding

Children who get —--—- -- atmosphere at home for studies perform better than
students who are brought up under tense and indifferent family atmosphere.

1) favorable 2) valid 3) obedient 4) traditional
The post office has promised to resume first class mail -—=-=-—=-———-—-to the area on
Friday.

1) attention 2) progress 3) expression 4) delivery
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| PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) —===eeeeeeeeeez 1970, she
completed her first performance with Hommage a Delacroix. (12) -=-=------—-- was
the beginning of an artistic career (13) =—=—ememmemmmex to the oneness of art and life.
(14) ~—=mmmemmmmmmm_actions and performances on streets and public squares. followed by
her "living environments" and the "windows", (15) in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) that it 2) which 3) that 4)it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with  4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

There are two types of agricultural crop residues. Field residues are materials left in an
agricultural field or orchard after the crop has been harvested. These residues include
stalks and stubble (stems). leaves, and seed pods. The residue can be ploughed directly
into the ground, orburned first. Good management of field residues can increase
efficiency of irrigation and control of erosion. Process residues are materials left afier the
crop is processed into a usable resource. These residues include husks,
seeds. bagasse. molasses and roots. They can be used as animal fodder and soil
amendment, fertilizers and in manufacturing. Nutrients in most crop residue are not
immediately available for crop use. Their release (called generalization) occurs over a
period of years. The biological processes involved in soil nutrient cycles are complex. As
a rough guide, cereal straw releases about 10 to 15 per cent of its nutrients and pea
residues release about 35 percent of their nutrients by the next year. The speed of
generalization depends on the nitrogen and lignin content, soil moisture, temperature, and
degree of mixing with the soil. N is released fairly quickly from residue when the content
is higher than 1.5 per cent. In contrast, below 1.2 per cent, soil-available N is fixed (called
immobilization) by the microbes as they decompose the residue. Thus pea residue would
have short- and long-term benefits to soil fertility, whereas cereal straw would reduce next
year's soil supply of available nutrients. Over time. the nutrients fixed by soil microbes
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17-

19-

20-

and humus are released and available to crops. Nutrients from residue are not fully
recovered by crops. Just like fertilizer nutrients, nutrients released from crop residue into
the soil are susceptible to losses such as leaching, denitrification, immobilization, and
fixation.

It is stated in the passage that —--—--eeeeeeee,

1) process residues are the materials collected from crop processing
2) pea residue has over seven short-term benefits to soil fertility
3) soil-available N is fixed by 1 per cent of soil’s microorganisms
4) generalization occurs faster in pea residues than cereal straw
The passage points to the fact that ——-——-nmne-,

1) seed pods are among field residues

2) crop use depends heavily on crop residue

3) husks have very little nutritive value

4) microbes fix the soil’s needed humus

According to the passage, ----=--=-=-eve- .

1) process residue denitrification happens very quickly

2) fertilizer nutrients are not immune to immobilization

3) orchard residues release far more N than field residues

4) field residues cannot be ploughed directly into the ground

We understand from the passage that «—--eeeemeaeaee,

1) soil’s lignin content is an index of its moisture

2) field residue lowers the efficiency of irrigation

3) animal fodder is often used for soil amendment

4) processes involved in nutrient cycles are simple

The word *stubble’ in the passage (underlined) is closest t0 —eesememmncaaes,
1) ‘root’ 2) “branch’ 3) “straw’ 4) “trunk’
PASSAGE 2:

Support for agriculture dates back to the 19th century. It was developed extensively in
the EU and USA across the two World Wars and the Great Depression to protect
domestic food production. but remains important across the world today. In 2005, US
farmers received $14 billion and EU farmers $47 billion in agricultural subsidies.
Today. agricultural subsidies are defended on the grounds of helping farmers to
maintain their livelihoods. The majority of payments are based on outputs and inputs
and thus favour the larger producing agribusinesses over the small-scale farmers. By
subsidising inputs and outputs through such schemes as 'vield based subsidisation',
farmers are encouraged to: over-produce using intensive methods including using
more fertilizers and pesticides; grow high-yielding monocultures: reduce crop rotation:
shorten fallow periods;: and promote exploitative land use change from forests,
rainforests and wetlands to agricultural land. These all lead to severe environmental
degradation including adverse effects on: soil quality and productivity including
erosion. nutrient supply and salinity which in turn affects carbon storage and cycling.
water retention and drought resistance: water quality including pollution, nutrient
deposition and gutrophication. and lowering of water tables: diversity of flora and
fauna including indigenous species both directly and indirectly through the destruction



& axio 118F (IYF a5) (55,9l slasd! y0;

21-

22-

24-

of habitats. resulting in a genetic wipe-out. Cotton growers in the US reportedly
receive half their income from the government under the Farm Bill of 2002. The
subsidy payments stimulated overproduction and resulted in a record cotton harvest in
2002, much of which had to be sold at very reduced prices in the global market. For
foreign producers, the depressed cotton price lowered their prices far below the
break-even price. In fact, African farmers received 35 to 40 cents per pound for cotton,
while US cotton growers. backed by government agricultural payments. received 75
cents per pound.

The passage mentions that ——--——---—,

1) intensive methods of agriculture do not always result in over-produce

2) direct subsidies damages flora and fauna including indigenous species

3) agricultural subsidies no longer help farmers maintain their livelihoods

4) the US market did not have enough demand for the 2002 cotton harvest

Which of the following, according to the passage, receives more agricultural subsidies
today?

1) *small-scale farmers’ 2) *subsistence farmers’
3) ‘Midwest farmers in United States’ 4) *larger producing agribusinesses’
We can understand from the passage that agricultural subsidies policies were —-----eemev-,

1) of little use to farmers in the United States after World War 11

2) stronger in the Great Depression than in the nineteenth century

3) first practiced in the United States before they were used in Europe

4) employed in some Asian countries, like Japan. before the 19th century

Which of the following is not correct about ‘yield based subsidisation’, according to the
passage?

1) It does harm to fallow periods.

2) It affects nutrient supply positively.

3) It affects carbon storage and cycling.

4) It has a negative impact on draught resistance.

The term ‘eutrophication’ in the passage (underlined) is related best to the growth of
plants on
1) river beds 2) stream banks 3) surface water 4) river-washed soil

PASSAGE 3:

Agricultural value chain finance (VCF) is concerned with the flows of funds to and
within a value chain to meet the needs of chain actors for finance. to secure sales. to
buy inputs or produce, or to improve efficiency. Examining the potential for value
chain finance involves a holistic approach to analyze the chain, those working in it
and their inter-linkages. These linkages allow financing to flow through the chain.
Inputs can be provided to farmers and the cost can be repaid directly when the product
is delivered. without need for farmers taking a loan from a bank or similar institution.
This is common under contract farming arrangements. Types of value chain finance
include product financing through trader and input supplier credit or credit supplied by
a marketing company or a lead firm. Other trade finance instruments include
receivables financing where the bank advances funds against an assignment of future
receivables from the buyer, and factoring in which a business sells its accounts
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27-

28-

30-

receivable at a discount. Also falling under value chain finance are asset
collateralization, such as on the basis of warehouse receipts, and risk mitigation. such
as forward contracting, futures and insurance. A major subset of value chain
development work is concerned with ways of linking producers to companies. and
hence into the value chains. While there are examples of fully integrated value chains
that do not involve smallholders. the great bulk of agricultural value chains involve
sales to companies from independent farmers. Such arrangements frequently involve
contract farming in which the farmer undertakes to supply agreed quantities of a crop
or livestock product, based on the quality standards and delivery requirements of the
purchaser, often at a price that is established in advance. Companies often also agree to
support the farmer through input supply. land preparation. extension advice and
transporting produce to their premises.

The passage points to the fact that it is possible for - -eeeee-- ~

1) forward contracting to guarantee insurance

2) value chains not to involve any smallholders

3) receivables to be protected through financing

4) input supply to include product transportation

It is stated in the passage that under contract farming arrangements, farmers ——--------—,
1) work directly with the lending banks

2) do not have to take loans from a bank

3) should not engage in traditional farming

4) have to produce only high-yeilding crops

According to the passage, —-—----—=-eeux,

1) collateralization is the most important asset of value chain finance

2) contract farming is the major subset of value chain development

3) VCF works only with holistic. product-based agricultural chains

4) extension advice to the farmer is included in contract farming

It is mentioned in the passage that ——-—eveeeme,

1) factoring is a kind of trade finance instrument

2) VCF involves product financing in most cases

3) banks advance funds for assignment of discounts

4) livestock products are subject to delivery requirements

The word “mitigation’ in the passage (underlined) is best related to --------aeuuev,
1) *"management’ 2) ‘removal’ 3) ‘reduction’ 4) *analysis’
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